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1. Use these two functions for parts a to c:
kKw) = 1Qw -6 g(c) =2¢*+7

a) 8 +3-D = |)(3)- (OJ 3(4)}*7

7=l 331
A7 « U :

k(w) = 10w -6 g(c) =2¢* +7
b) Find w it &(w

47 = W _ko
55:mw
W=5.3



k(w) = 10w — 6 g(c) = 2c%+7

c) Find the range of g(¢) given this domain: =3, 1,3

Range.: \9(-5) o'?(—%)ﬂ 29

25,9553 |91 =91

2. Graph each this function:
a) y=4dk+3|-5

y ‘
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X) = 2.7(2 5 find f(—3)
i n — +
3. Give ;)( ) )

a )



4. Given c(w) = 4w + 7.
a) Find the range of ¢(w) that corresponds to this domain {-8,- g}

zg/fl >

b) Find w if ¢(w) = 23 i

23 =9w+7
b= ”%{

6. Use what you know about each equation to state what the shape of each graph will be and, if applicable,
which way it opens.
a) flx) = 2x> +50 b) y=-6x+7 c) flx) =—-6lx+1|+12 d) y=-2(x—4)>+8
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Classwork: Chapter 5 Textbook Review
Page: 276

Problems: #15-27

IXL #11 - Q.1 & Q.2 due today at 4pm!



